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— Attempt five questions in all. Questiori No. 1 1is

- compulsory. All questions carry equal marks.
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Do you agree that Indian economy has the potential to

resume high rate of economic growth which actually it

experienced between 2004 and 2010 ? Give reasons it
subport of your answer. Also state the challenges before
Indian economy in achieving double digit growth rate in

future. - 20,10
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Wha§ is jobless growth ? Do you think that Indian growth
experience during the post reform period was a period
of jobless growth ? As a policy maker what suggestions

would you make so that growth accompanies greater

employment opportunities ? 6,12,12
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Discuss the growth performance of Indian agriculture for
last one decade. What factors affect the performance of
agriculture in India ? What measures do you suggest

to improve the performance of this sector ?
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“Performance of Indian industrial sector has been more
volétile in the post reform period compared to pre reform
period.” Do you agree ? Explain the significance of ‘Make

in India’ policy of Government of India in this

regard. 20,10

“guR gEETE FT gerT § guR Sudd @ # W

3@"1 @rsraﬁwi%rm aTfEerY (Volatﬂe)@%‘l” —
T o9 wewq ¥ 73@@3%#13%@@1%% WA
7 faator’ (Make in India) ¥ifa =T e R SISl

HifSTQ |

P3Ok



A e Gy , Eco-I1

State the major reforms undertaken in the financial
sector of India since 1991. Do you think that Indian
financial sector requires further reforms in order to

match with the developed economies ? Explain. 15,15
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What are the main recommendations of 14th Finance
Commissions of India ? Do you agree that these
recommendations will reduce the inter-state inequa.l.ity ?

Give reasons for your answer. 15,15
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Give detailed account of growth, pattern and direction

of foreign trade of India in last one decade. What according
to you are the main reasons for current account deficit
for Indian economy in last one decade ? What measufes
do you suggest to improve the current account

situation ?
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Write short notes on any two of the following :
@) Foreign Direct Investment in India:
(iD) Planning Commission Vs. NITI Aayog.

(i) Disinvestment of the public sector undertakings;

(tv) WTO and agreement on agriculture. 15,15
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